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void f2(int *pn, int *pm){
pn = pm;
*pm = *pm ? 1:-1;

}
int main(){
int n=2, m=0;
int *pn = &n, *pm = &m;
f2(pn, pm);
printf("%d %d",*pn, *pm);
return 0;
}
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int main(){
int i, n= 6;
for (i=0; i < 3; i++){
printf("%d ",(n>>1)&1);
}
return 0;
}
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int f1(int n) {
n %=3;
return n;
}
int main{){
int n=35;
int m = fl(n);
printf("%d %d",n, m);
return 0;
}
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int main(){
short a[3][4];

char *pcl, *pc2;
pcl = (char *)(a+1);
pc2 = (char ¥)(at+2),

pcl++;

pc2 -

printf("%d ",pc2-pcl);

return 0;

}
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int n=2;

int f3(){
static int m=1;
n*=m;
m=ntl;
return n;

}

int main(}{
int m;
n = f3();
m = f3();
printf(*%d %d”,n, m);
return 0;

}
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